Time allowed: 2:40 Hours

MATHEMATICS SSC-|
(Science Group)

Total Marks Sections B and C: 60

SECTION — B (Marks 36)

Q.2  Attempt the following Questions. } {9 x4 =38) -J.{)U'caﬂ‘fuﬁlw 2‘}_] Jir
{1} 1 26 | ‘
: If A= B= then find X when |
| 12 4 7 | e
=: ! Solve using logarithm ol
Reldrtl IR o : 1x4¢ | OR ! 2981 1x4
- L - - _". 1 y, - i = e 7
.J.,-?«\{;?!L’"-fu X"A——!Ll zJ.B—I:ﬂ 7j|/r‘ I: _u_fd'c..uof;x:'
X+44=178 |
{if) 4" x5 1n41  grte i Factorize using suitable formula:
Simplify: T
10™ % 25" - eI
L | Ix4 38 x4
£ | o s _
i LS sl ot
(i) |Find the value of x , when log, (x* —1) =3 1 6 2 ) S
* Bl =D 1 If A=| oy then show that 4 4=7
e log, (¥ ~) =3 S S edfx j 1x4 | OR e 5 1x4
j A'd= IIL,ALHA_! 3]/’: '
W} 1 e =043, then find ' 1 1. =
1 1 I If 2=Z-§f then show thatZ+Z =2Re(2)
a)at= bla-— cla'+-= 1x4 | OR ixd
“ ¢ “ o? Z+Z=2Re(2) Sufek? z=L-Li £
-u:/rﬂ“;ﬂa-—-\ﬁ_ﬁ-d;l ‘ . ) 4 3 i
(v} {Use factor theorem to factorize: § |2x+3] 7
3 3 [ Solvg ———-2=8§ _ .
48" +19x412 | _ x4 | OR 3 PR
45{; J&-J.t de:,: A ..;\,[/rul' ]
(vi) " |Find HCF by division method T I x——y_=d31; =3then prove that x'—)' =54 |
3 2 3 i | i
2’ —5x" +5x—4, 20 ~9x" +9x~7 22 | OR | ! na |
.U'/‘:l""fj..ﬂ.-;f”lg[i | X -y =54 Sy et x-y=3ap= 3| .
{vil) [Write the given equation in y=nx+¢ form and } if the given figure PORS is a parallelogram, [
P then find the values of a and x. !
! find values of mand ¢ ~-==-6 s 1 |
i 4 3 Tas 10 e |
| |
_éf»:'-v\,:'f;,fwm IL":J "PJ yﬂm*d ;_ ; *=5 1x4 | OR 2" o :
P q
oo 7 x st a i $i# L1 PORS B, /1 i
| : ‘_L{f
{viii) | Prove that any point on the bisectar of an angie | Verify that the points.(-2,-8),(1,1),(4,10)are
is equidistant from its arms. clisg |
Sl i L 838 5 Lo s S Sfep | 156 | OR ' ) e [ R
s (—2,-8),(1,1),(4,10) S/ -"-c*
—e b Lol
() IFor the given figure AB=AC .and D is mid- In AABC,IM | BC and mAL=5miB= m *
] point of BC . Prove that =22 ° mAM =x,mMC =18—x, then find value of
8 = % ix4 | OR 1x4
+ 3 e o '
| .;:?-cl_ﬂpF:KBCED;:I%.ABE.AC u:ﬁdlf) ;
| e dsn sy ey B - x
| mAL =5,mLB =10, 4 LM [; BC £ ABC & |
E _;,,;'fl-':l"' mAM FUst mm"—'x,mrﬁf—:lg—x,
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SECTION — C (Marks 24)

‘Note: Attempt the following questions.

{3 x 8= 24)

-;{ff.;«l]lruﬁﬁw

e d }

Q.3 | Use matrix inversion method to solve system off; Prove that “If lwo sides of a friangle are
: . x+y=S§ :r unequal in length, the longer side has an
e equations: Iy~ y=T] | angle of greater measure opposiie to it".
I il B Lk luinds | va | OR L dutiunsanstiim Lot iy S o
' (e ;I;.i"L,Q__:Ih'_.‘s&I/:i Ci'b :"_.r.f)ilﬁ’p(fslji.hé‘.lf
-J’ﬁw!.‘_i :
Q47| Prove that "In a right angled triangle, the square Prove that the Parallslograms on equal bases |
of the length of hypotenuse is equal to the sum and having the same (or equal) altitude are
of the squares of lengths of the other two sides”. equal in area.
e - " ; x4 | OR | o - R
Uil WS L 2 et .5 S et | B2 Gl i) Ol g s 8 i S 2
| - & A | ¥ £_ H r b -
e sl o LU st ELus sgbendil
Q.5 | Gonstruct the triangle APOR, draw their} - £y ) X+ 4y Lx: —9P |
altitudes and verify concurrency, Write steps of Simpl o - AT S Wtz - e |
constructions.  #
mPQ=85em  mQR =Tem mzp=4s° | Q) OR | L/
. % |
uj...;)’&,‘.-’mu;# G0t L1 o APOR 2.8 ;
‘bﬁﬁffﬁ_ﬁifxﬂﬁ 1
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